JREkkal (5 4 SREEHR)

W] RSB e S HIR T
(3 & 11 HAx)

F A H X g i & ()
AHI34ELILHSH B B (AR R AEERE 20, 000
AMBELLALRH | B B | isEkaasE 10, 000
AHSFEILHLTH BB oA E 5, 000
AH3EILALITH BB o EERE 5, 000
SFI3FELILHA19H B A CE AN 5,000
AH3EILHI9H BB EEE CERARAEERE 5, 000
DHI3EILH22H B B |RAEZAEEEZERN 0, 000
DH3EILH22H B B |RAEZEREZERE 5, 000

& & | 8 60, 000

#oat (3 FE)

X 4 ] 11 A% 3 FERE

2K & (1) 2K & (1)

BB 8 60, 000 32 215, 000
B 0 0 6 18, 000
= & 0 0 0 0
Z D 0 0 0 0
s 8 60, 000 38 233, 000




